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Finite Math - Spring 2017
Review - 3/1/2017

Example 1. If you invest $5,650 in an account paying 8.65% compounded conlin-
uously, how much money will be in the account at the end of 10 years?

AR

A _ $§ 650@(0\0%5)00)

0865

’:—s#g,éS_O@,

:)géf%,hf/?.%?f
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Example 2. A company establishes a_sinking fund for plant retooling in 6 years at

an estimated cost of $850,000. How much should be im)estedf]semiannual@into an

account paying 8.76% compounded semiannually? ' \
>m=Z

(R -1
FV=PMT) —

"
(1+ 0‘0376)‘1’ |

0.0876
2

4950,000 = PMT

—PMT ( /5 3575';2\008)

ST =¢e5 347 43 |
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Example 3. If an investor wants to earn an annual interest rate of 6.4% on a
26-week T-bill with a maturity value of $5,000, how much should the investor pay

“for the T-bill .
(P | n >
i/ : S ;( WEQES
A = ( [ —J( {\t ) Fe r Neor

/

%
45,000=P (I+ [0084)(2),
:KP([‘OBQJ
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Example 4. Which is the better investment and why: 9% compounded quarterly

or 9.25% cm&unded annually? Aﬁ)\j

0, A(P\/: U,],Q;Qﬂy/ ,.) ~ Q.08

L7l

( D «  betler
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Example 5. wz’ll it take $4,000 to grow to $10,000 if it is invested at

6% compounded monthly? 9% compounded monthly?

& €

A= fp(,ﬂ_%){:;n»
000 (1.005)"

= 2.5 = (1.05)"

b2 i) < bl
_ 28 93705 pniths
=2 N7 o

(2 fw o 4 hono(1 -2

= 2.5 =[1.0075)"
—7"’\( Sj . (("9075)“) = n jmlf_[.007§)

SN = 102 [329 §7 -
T:Z\_/ rv\ow({/f\ /



6

Example 6. A couple has a $50, 000, 10-year mortgage at 9% compounded monthly.
What will their monthly payment be?
-(+5)7

PV = /W( .

= o (73.94169267)

o = 6.9




7

Example 7. A person wants to establish an annuity for retirement purposes. He
wants to make quarterly deposzts for 20 years so that he can then make quarterly

withdrawals of $5,000 Jor. 10 years. The annuity earns 7.32% interest compounded
quarterly.

(a) How much will have to be in the account at the time he retires?

(b) How much should be deposited each quarter for 20 years in order to accu-
mulate the required amount?

(c) What is the total amount of interest earned during the 30-year period?

@ PV=PMT ( i

"%

”( _1‘0_0752 -

:>W;,8 451

C' Tt = Ho(45.000) - B0(4739.65) {136, §4% /
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Example 8. A couple wishes to have $40,000 in 6 years for the down payment
on a house. If the couple has $25,000 to invest, what interest rate (a) compounded

”?ﬁ%ﬂ%dg (b) compounded monthly, (c) compounded continuously should the couple
ook for

0O A-P(IHE)"  © A-Pe (P

(@ i 0,000 = 45,000 |+ 5
v .6 = ([ffzf« )M
= |+ 5= e =[.011776

r——‘

= = 0.0791] - [7.q1% /

(L) - mer)m

$ 440,000 = $25,000(|+ 17

= 1.6=[(1+5)

=716 = [+172

= =~ ().073549 \ 0/o/

A S 2

© $40,00p-tas e’ =5 (6 =

> a6 = lr\(eér): brlne = by

e e
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